

計算しましょう。

$$\textcircled{1} \quad 780 \text{ g} - 350 \text{ g} = \boxed{430} \text{ g}$$

$$\textcircled{2} \quad 1 \text{ kg} - 460 \text{ g} = \boxed{540} \text{ g}$$

$$\textcircled{3} \quad 1 \text{ kg } 650 \text{ g} - 350 \text{ g} = \boxed{1} \text{ kg } \boxed{300} \text{ g}$$

$$\textcircled{4} \quad 4 \text{ kg } 270 \text{ g} - 600 \text{ g} = \boxed{3} \text{ kg } \boxed{670} \text{ g}$$

$$\textcircled{5} \quad 10 \text{ kg} - 3 \text{ kg } 720 \text{ g} = \boxed{6} \text{ kg } \boxed{280} \text{ g}$$

$$\textcircled{6} \quad 6 \text{ kg } 480 \text{ g} - 4 \text{ kg } 260 \text{ g} = \boxed{2} \text{ kg } \boxed{220} \text{ g}$$

$$\textcircled{7} \quad 5 \text{ kg } 720 \text{ g} - 2 \text{ kg } 650 \text{ g} = \boxed{3} \text{ kg } \boxed{70} \text{ g}$$

$$\textcircled{8} \quad 7 \text{ kg } 240 \text{ g} - 3 \text{ kg } 590 \text{ g} = \boxed{3} \text{ kg } \boxed{650} \text{ g}$$

$$\textcircled{9} \quad 5 \text{ t } 840 \text{ kg} - 3 \text{ t } 760 \text{ kg} = \boxed{2} \text{ t } \boxed{80} \text{ kg}$$